I TR Ay 2

(M%)

= s

i 25 8 i 0 | 2| AR &t

= (50 tr | (7T
— | MBS

1 | GRS 650 10 | & | 6500 B 14 B

2 | DAT-100B/ 445535 S O 200 10 | & | 2000 B 1A

2 ;;ﬁl:;:f DO-DZCR,/ B F 8= e i 500 1 &= 500 o o

) ;Eg;ﬁfﬁmmﬂ e T 500 ; s 500 e 4

5 | XAJM-ZDUSB/Im# USB—Key 100 10 | 4~ | 1000 ?

= | ARBEN QEXW) BARRAR MAEN _

1| DTC-100D/ ¥ 5 #8558 10000 | 2 & | 20000 |§ =nm B3
2 | NTR-BOOF/ $3-(% i Bl 32000 | 12 | & |384000 —gﬁ*f A )
3 [ S1016R/ZEHbL 1300 [ 2 | & | 2600 | WHEFER ./
1 | G3.664219 31 B 800 | 2 | & | 1600 I
5 | e —wmEaome 8000 2 & | 16000 B 1 4 B

6 | —4rPUsrERE (AC220V) 7500 2 & | 15000 Bl 1 O

T | BESN TS B500 2 & | 17000 Wi O

8 | TQJ-350C 4= F &g 3700 2 i | 7400 4 i

9 | RF50-7/8 Mk iles 100 | 200 | * | 20000 B 1 o
T | R, BE. BRE, LT B, W

1 | DTC-100D/ ¥ sE HEFs w18 w000 | 10 | & | 100000 R A

2 | PSU-1008/ 3ok B i e i 950 0 | & | 9500 B

3 | NTR-BOOF/ $5{5 i il 32000 | 30 | & |960000 B 41

4 | S2T00-9TP-EI-DC 2£ 48 1300 i0 | & | 13000 BRI

5 | EfiHLE S Al R 500 10 | & | 8000 B 4

6 | Ua—wHEams 8000 10 | & | soo00 14 B

7 -S04 B B (DCABY ) 7600 10 | & | 76000 B i

8 | EESu TS H500 10 | & | 85000 B O

9 | TQJ-350C 4= F ik 3700 10 | # | 37000 o {1 4

10 | RF50-7/8 3k ek 100 | 700 | * | 70000 B 1 o

r | HREBIES (1%, ERSBDER)

] :Es—1ma,-‘flnﬁ'!*ft PDT ¥4 fE 5t 75600 , e | 75600 W

2 | HACMSR26-00-10 Bk b 8 3 41 1500 1 & | 1500 1 o




AGLTE (TDD,/FDDLTE, TD-
3 | SCOMA, WCOMA, EVDO =355 ) SIC # 3100 1 g | 310 T {1 o £
i
I | oM SR
BEE 20000 | 12 | % |240000 [ % opE sEwD
7| 10M SEB% _
1| 1om BERIE % aas00 | 2 | % | e7000 | % el sl
+ | S
1 | SKEEBE (SWE. B 51000 | 10 | EE | 510000 | MRS CELE. EH)
o | BtdifE% 14000 | 1 T | 14000 | R4 CEEHEE Ed)
A | Hedts
e Rl AT H 8 Bk ) HAh 5 A i _ .
1 X 0 1 T ﬂ R, e
TR R AR CE A IREEGE k. K
1| FIgkeh. . feRE R | at000 | 3 | )
A R )
BETT
w | FISTiR. DPISO BD)
2 | BRE 4500 | 30 135000
e £ (PR RRE
14F)
0 e R
I s 2 = ; i HEE . DS-
3 | BEEEE 800 25 20000 Rilasenio]
ABCDEF )
o R AR T H T fiE B k) At 5 A i .
q E 1R 0 1 R i
¥ 3100800 L
Ey'e 3ok Ly ART (KB . % if | i_ %t
#l Em_F BT LN

#if: RS MBNEHS YRR




